COMMON SECOND MID-TERM TEST - 2022

R Standard IX Reg No. L]
MATHEMATICS
Time : 3.00 hrs Marks : 100
' Part - |
I. Choose the correct answer: 14x1=14
1. I (2, 3) is a solution of linear equation 2x + 3y = k then, the value of k is
a) 12 by 76 c) 0 d) 13
2. Which of the following is not a linear equation in two variable 7
a) ax+by+c=0 b)Ox+ 0y +c=0
c) Ox+by+c=0 diax+0y+c=0

3. A pair of linear equations has no solution then the graphical representation is

. b = 21 - -"'(;:l’ 3
a) AN \{ bi . , c) {’__;.ﬁ? d) &_}p‘;n
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- 3 T by wherea x+by+c =0andax by+c,= en the given pair of inear
equation has solutions.
a) no solution b) two solution c) unique d) infinite

5. The interior angle made by the side In a parallelogram is 80° then the paralielogram is a
a) rhombus b) rectangle c) trapezium d) kite 3

6 PQ and RS are two equal chords of a circle with Centre O such that ~POQ = 70° then
ZORS = - ) N
a) 60° by TR =Ly c) 55° d) 80°

7. A chord is at a distance of 15 cm from the centre of the circle of radius 25 cm. The
length of the chord is -
a) 25cm b) 20cm d) 18cm

8. In the figure, O is the centre of the circ 141 then ZAOB =

a) 80° ' b) 8%
c)y TP d) 65°

9. if the y-cordinate of a point is zero, then the point always lies
a) in the first quadrant b) in the second quadrant
¢) on x-axis d) on y-axis
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10 On plotting the polnts O00,0), A3, -4), B(3.4) and C(0.4) and jeining OA, AB, BC and
GO which of the following Nigure s oblained?

i) square b reotanglo o) trapezium d) rhombus
11, The poinl whose co-ordinale s 4 and which lies on the y-axis 1s ______
i) (4.0 by (0.4) g) {1,4) d) (4.2)
12, The distance balweon thi two points (2, 3) and (1.4) 18
n) 2 b) J56 c) J10 d) J2
13. 11 the points A(2,0), B(~0,0), C(3.0-3) lie on the x-axis then the value of a Is
) O b) 2 c) 3 dj -6
14 The distance between the polnt (5,=1) and the origin 15
a) J5a by 37 €) 26 d) /17
Part - Il
I, Answer any 10 guestions. (Q No.28 is compulsory) 10x2=20

15 Draw - Intersecting lines and parallel lines

1 What are the methods of solving simultaneous Linear Equalions? :

17. Find the value of m from equation 2x + 3y = m. If its one solution is x = 2 and y = 2.
18. Stale - Pythagoras theorem, ;

19 Write any two examples of concenlric circlesg '*"

20 Find the value of x*

bty |

21 Draw a circle with cenire, radius, diametér, chord
22 Mantion the name of x-coordinate and y-coordinale.

29 In which quadrant does the following points lie? a) (3-8) b)(=1,-3)
24 Find the distance between the points (-4,3) and (2,-3)

25 Draw x and y axies and mention four quadrants.

26 Find the distance between the points (a,b) and (c.b) __13) ae 3 g - N Qm
27 Write a point lies on x-axis and a point on y-axis. { e
b ,3=n1 &MM

4

-}

28 Find the value of x*.
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Part - Il
Answaer any 10 questions. (Q.No.42 is compulsory) 10x5= 50
Solve, ysing the method of substitution  2x-3y=7,5x+y=9
Saolve, by method of elimination 1 2x -y =3, 3x+y=7
Solve, by the method of cross multiplication - 3x —4y = 10, 4x + 3y =35
ABCD is a cyclic quadrilateral such thal <A = (4y+20)°, £B = (3y-5)°, £C = (4x)°
2D = (7x+5)" Find the four angles
A chord is 12 cm away from the centre of the circle of radius 15 cm. Find the length of
the chord. -

Find the value of xin the following figure.

. In the given figure, O is the center of the circle,

If the measure of ZOQR = 48°. What is the i |
measures of s P =7 ér ﬁ J
iy o, RN F?

Represent and draw the position of a point with respect to a circle. .
Piot the following points (0,0), (—4,0), (—<4.-4), (0.—4) in the coordinate plane. Join them
in order. What type of geometrical shape is formed?

. Determine whether the given points are collinear or not - (7.-2) (5.1) (3.4)
- Af=1,1), B(1,3) and C(3,a) are points and if AB = BC, then find "2
40

Show that the point {11.2) is the centre of the circle passing through the points
(1.2), (3.-4), (5.-6)
Calculate the distance between the points A(7,3) and B which fies on the x-2xas whoss
abscissa is 11.
Plot the following points in the coordinate plane and join them. What is your condiusion
about the resulting figure? : (=5.3) (-1.3) (0.3) (5.3) g
Part- IV
Answer all the questions. 2x8=16

. @) Construct APQR whose sides are PQ=6cm, #/Q = 60°f and QR = 7 cn and

locate its arthocentre,

(OR)
b) draw an equilateral tnangle of side 6.5 cm and locale is orthocenire.

- @) Use graphical method to solve the following system of equations -

x+y=5 2x-y=4
(OR)

b) Use graphical method to solve the following system of equations -
y=2x+1 —dx+2y=2
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